=
<

o(0 @) (rad)
a(d cot(d))

1072F

B DO SN VUL FUUUE O T B DU SN UL FUUUE O T

3 -2 -1 0 T2 3 0953 =1 0 T2 3

TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100

—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

= 10™ = 1=
5 e
= =
< -
> (e
_O/ -
3 ©

1072

g wl]

TP n (PCA to beamline) TP n (PCA to beamline)

=

0P /P,

2 b ] ] [ ] ]

232 -1 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


